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1. � f(x) =

{−2x + 1, x < 1,
2, x = 1,
x2 + 1, x > 1.

�O f(x) Ý=�F�&=�F . ub&=�F , �¾\Í
�ÉtÝT��ÉtÝ .

2. � f(x) =
x

x2 − 2x − 3
, −2 ≤ x ≤ 4. �O f(x) Ý=�F�&=�F. ub&=�F, �¾\Í
�ÉtÝT��ÉtÝ.

3. � f(x) =

{−x + 1, x ≤ −1,
ax2 + bx + 2, −1 < x < 3,
−2x + 9, x ≥ 3.

�O a � b ¸ÿ f 3JÍ�óaîKÎ=�Ý.

4. �|0�óÝ�LO f(x) =
1

√
2 − x

Ý0�ó.

5. � N(t) = 3

[[

t + 1

2

]]

− t, −1 ≤ t ≤ 3. �0 N(t) Ý%�, ¬® N(t) 3ø°FÎ�=�Ý? 9°�=�FÎ�ÉtÝ�Î��ÉtÝ?

6. ' f(x) =
2π +

√
5x − 2x + 7x5/2

(3x)2
. �O f ′(x).

7. � g(t) = 3e2 + (7t)2 − 3
√

4t − 5t3/2. �O g′(t).

8. � f(x) =

{

x3 + 2, x ≤ 0,
1 − 2x, x > 0.

�® f 3ø° x Î���Ý? §ã?


